E1 ER-EL

\

Referans -2 é—f\—é DIN 6379
Nr 7 7 . (kg) dxL  ©CT—
2010-1012 M10x12 330x255 7.27 M10x80-100-160-200
2010-1214 M12x14 380x255 9.26 M12x80-100-160-200
2010-1416 M14x16 435x255 12.29 M14x80-100-160-200
2010-1618 M16x18 435x255 15.62 M16x80-100-160-200
2010-1820 M18x20 495x255 18.00 M18x80-100-160-200

¥~ AKIFSAN

” MAK. HIRD. SAN. TiC. LTD. STI.

Merdiven Yiikselticili Baglama Set

Coupling Set with Serrated Hell Block

« Tabla Uzerine ig parcasi

Uriin Nr. 2010 Merdiven Yiikselticili Baglama Set

ve aparatlarin hizli ve

guvenli bir sekilde baglanmasi icin ¢elik mamdlden
Uretilmis parcalardan olusan baglama seti.

Product Nr. 2010 Coupling Set with Serrated Hell Block
« This is the coupling set produced from steel product in order
to couple the work piece or apparatuses on the table in a rapid and safe way.

» 6 adet DIN 508 “T” pab
+ 6 adet DIN 6330B takvi

+ 2 adet 1830 uzatma so

* 1 adet Nr. 1950 “T” kan

Uriin: 52 Pargca Merdiven Destekli is Baglama Set

ug

+ 16 adet DIN 6379 saplama

yeli somun

* 4 adet DIN 6331 pullu somun

mun

+ 4 adet DIN 6340 kalin pul
* 4 adet Nr.1290 merdiven pabug
» 8 adet Nr. 1310 merdiven dig destek

al temizleyici

» 1 adet statik boyali celik set

Ne (L bt | =T | a | e b - 7w
80 30 L
1290 11 M10 15 30 ‘
100 45 \
1200 199 45|  mi2-m14 20 | %2 | 40 | .V% (HH / .
125| '* i 55 ¢ )5 N b — ]
125 65
1200 | o0 185 |  M16-M18 25 | o2 | 50 oD
a
‘AR il © ===
DIN 508 DIN 6330 B Nr 1830 DIN 6331 DIN 6340
12 M10 M10 M10 M10 M10
14 M12 Mi2 Mi2 M12 M12 >'_,<a
16 M14 M14 M14 M14 M14 Nr. 12-14
18 M16 M16 M16 M16 M16 1950 16-18
20 M18 M18 M18 M18 M18 20-22
Nr. h-H a min-max | . iTTTTUE -
1310 37-85 57 0-40 .
©
1310 48-112 73 0-60 T Ei
© k=
1310 58-139 90 0-75 e - )
1310 | 66-165 108 0-90 ¢ )
28

Product: 52 piece set of Coupling Set with Serrated Hell Block

6 pieces of DIN 508 “T” Clamp (M20x22 4 piece)

* 16 pieces of DIN 6379 Stud

.
.
.
.
.
.
.

6 pieces of DIN 6330B Supported Nut

4 pieces of DIN 6331 Nut with Washer

2 pieces of No. 1830 Extension Nut

4 pieces of DIN 6340 Thick Washer

4 pieces of No. 1290 Serrated Clamp

8 pieces of No. 1310 Clamp with Support Hole
1 piece of No. 1950 “T” Slot Scraper

1 piece of Steel Set with Statical Paint

—  www.akifsan.com

MERKEZ:

100. Yil Bulvan Ahi Evran Cad. No: 85 Ostim Ankara / TURKIYE
Tel: +90 312 354 43 91 - 354 32 62 Faks: +90 312 385 56 34

E-posta: merkez@akifsan.com

133

SUBE: ' o
Melih Gokgek Bulvari 1445. Sok. No: 10 Ivogsan Ankara / TURKIYE
Tel: +90 312 395 16 18 - 395 16 01 Faks: +90 312 395 75 15
E-posta: sube@akifsan.com






